H.D.G FASTENER CONSUMPTION FROM APR'12 - FEB'13

No. ITEM SPECS. LI(E'::JH QTY (PCS) | WT/PC TOT (TON)
1 [M10x30 [B+N+wW | 8.8 30 785 |0.043| 34.069
2 [M10x35 [B+N+W | 8.8 35 1431 | 0046| 656829
3 [M10x40 [B+N+w | 88 | 40 3444 [0.048| 166.6896
266.44
4 [M12x25 [B+N+W | A307 | 25 13 [0.122 1.586
5 [M12X35 [B+N+W | A307 | 35 6830 [0.131| 894.73
6 |M12X40 |B+N+W | A307 | 40 902 |0.137| 123.574
7 [M12x45 [B+N+W | A307 | 45 1012 | 0.140| 14168
8 [M12x70 [B+N+w | A307 | 70 3 0.170 0.51
9 [M12x75 [B+N+W | A307 | 75 8 0.177 1.412
10|M12x85 [B+N+W | A307 | 85 10 |0.189 1.885
1,165.38
[ 11|m16x35 [B+N+W [ A325 | 35 21 | 0224 46935
"12|M16Xx40 [B+N+W | A325 | 40 18230 |0.233| 4247.59
13|M16x45 [B+N+W | A325 | 45 | 36115 |0.238| 8595.37
14|M16X50 [B+N+W | A325 | 50 27271 | 0.248| 6763.208
15|M16X55 [B+N+W | A325 | 55 729 |[0259| 188.811
16 |M16X60 [B+N+W | A325 | 60 1018 |0.263| 267.734
17 |[M16X65 [B+N+W | A325 | 65 352 |0272] 95744
18|M16x80 [B+N+W | A325 | 80 146 [0297| 43.362
19|M16x85 [B+N+W | A325 | 85 35 [0.302 10.57
20 [M16X90 |B+N+W | A325 | 90 116 [0.312| 36.134
21 [M16X100 [B+N+W | A325 [ 100 1 0.326 0.326
22 [M16X110 [B+N+W | A325 [ 110 28  ]0.336 9.408
23 [M16X120 [B+N+W | A325 | 120 8 0.356 2.848
24 [M16X130 |[B+N+W | A325 | 130 58 [0376| 21.808
25 [M16X180 [B+N+W | A325 | 180 25 [0.476 11.9
20,299.51
(27 [m20x45 [B+N+W | A325 5199 |0.375| 1949.625
28 [M20X50 [B+N+W | A325 67720 ‘| 0.389| 26343.08
29 |M20x55 [B+N+W | A325 136452 | 0.403| 54990.156
30 [M20X60 [B+N+W | A325 79933 |0.414| 33092.262
31|M20x65 [B+N+W | A325 61893 | 0.425| 26273.5785
32 [M20x70 [B+N+W | A325 134419 | 0.432| 58069.008
33|M20X75 [B+N+W | A325 41190 |0.446| 18370.74
34 [M20X80 |B+N+W | A325 24464 | 0.460| 11253.44
35[M20X85 [B+N+W | A325 19574 |[0.467| 9141.058
36 [M20X90 [B+N+W | A325 13538 | 0.476| 6444.088
37 [M20x95 [B+N+W | A325 23322 |0.488| 11381.136
38 [M20X100 [B+N+W | A325 2514 | 0.502| 1262.028
39 [M20X105 |B+N+W | A325 974 |0516| 502.584
40 [M20X110 [B+N+W | A325 420 |0.530 222.6
41|M20X115 [B+N+W | A325 563 |0537| 302.331

D obeul oA
R eonsi ¢
Py edisee oA

Ofwrc-\?() Lafé\ (o
month ¢



42 IM20X125 |B+N+W | A325 252 0.569 140.742
43 [M20X130 |B+N+W | A325 50 0.573 28.65
259,767.11
44 |IM22X50 |B+N+W | A325 1488 | 0.578 860.064
45 [M22X55 [B+N+W | A325 26800 | 0.597 15999.6
46 [M22X60 [B+N+W | A325 78430 |0616| 48312.88
47 |M22X65 |B+N+W | A325 17652 | 0.626| 11050.152
48 IM22X70 |B+N+W | A325 12200 | 0.635 7747
49 IM22X75 |B+N+W | A325 32388 | 0.654| 21181.752
50 |M22X80 |B+N+W | A325 52788 | 0.672| 35473.536
51[M22X85 [B+N+W [ A325 13000 | 0.681 88563
52 [M22X90 [B+N+W [ A325 18009 | 0.702| 12642.318
53 |M22X95 [B+N+W [ A325 3440 | 0.713 2452.72
54 IM22X100 |B+N+W [ A325 200 0.731 146.2
55 |M22X110 [B+N+W | A325 3406 |[0.768| 2615.808
56 |M22X120 [B+N+W | A325 2200 |0.790 1738
57 [M22X130 [B+N+W | A325 604 0.812 490.448
58 |M22X140 |B+N+W | A325 1613 | 0.834| 1345242
170,908.72
59 [M24X55 |B+N+W | A325 1720 | 0.818 1406.96
60 [M24X60 |B+N+W | A325 12540 | 0.838( 10508.52
61 |M24X65 |B+N+W | A325 17865 |0.868| 156328.17
62 |M24X70 |B+N+W | A325 9595 | 0.878 8424 .41
63 |M24X75 |B+N+W | A325 24077 |0.898| 21621.146
64 |M24X80 |B+N+W | A325 53300 | 0.918 48929.4
65 |M24X85 |B+N+W | A325 6189 | 0.938| 5805.282
66 [M24X90 |[B+N+W | A325 6114 | 0.958| 5857.212
67 |M24X95 |B+N+W | A325 32655 | 0978| 31936.59
68 [M24X100 |B+N+W [ A325 10664 |[0.998| 10642.672
69 [M24X105 |B+N+W [ A325 2587 1.008 | 2607.696
70 |M24X110 [B+N+W | A325 4678 | 1.018| 4762.204
71|M24X115 [B+N+W | A325 1800 ([ 1.030 1854
72 (M24X120 |B+N+W | A325 2122 | 1.068| 2266.296
73 |M24X130 |B+N+W | A325 722 1.108 799.976
74 |M24X135 |B+N+W | A325 1600 | 1.120 1792
75 (M24X140 |B+N+W | A325 2873 | 1.148| 3298.204
76 [M24X145 |B+N+W | A325 571 1.160 662.36
77 [M24X150 |B+N+W | A325 2000 | 1.188 2376
78 |M24X155 |B+N+W | A325 300 1.200 360
79 |M24X160 |B+N+W | A325 454 1.212 550.248
80 [M24X170 [B+N+W | A325 605 1.236 747.78
81|M24X200 |B+N+W | A325 941 1.308 | 1230.828
183,767.95
82 [M27X75 |B+N+W | A325 651 0.990 644.49
83 |M27X85 [B+N+W [ A325 25 1.060 26.25
84 |IM27X95 [B+N+W [ A325 147 1.090 160.23




85 [M27X100 [B+N+W | A325 34 [1110| 3774
86 [M27X110 [B+N+W | A325 1150 | 1.140 1311
87 [M27X150 [B+N+W | A325 336 | 1.330| 446.88
88 [M27X160 [B+N+W | A325 252 | 1.370| 34524
2,971.83
89 [M30X70 [B+N+W | A325 38 [1168] 44.384
90 [M30x100 [B+N+W | A325 91 | 1327| 120757
91 [M30X110 [B+N+W | A325 1839 |1.359| 2499201
92 [M30X115 [B+N+W | A325 480 | 1330 6384
93 [M30x120 [B+N+W | A325 318 | 1422 452.196
94 [M30X130 [B+N+W | A325 68 1470  99.96
95 [M30X150 [B+N+W | A325 252 1580 398.16
96 [M30X170 [B+N+W | A325 4740 |1676| 7944.24
97 [M30X220 [B+N+W | A325 672 |1.916| 1287.552
13,484.85
98 [M36X130 [B+N+W | A325 50 [2.396| 119.8
99 [M36X180 [B+N+W | A325 101 | 2627 265.327
385.13
GRAND TOTAL | 653,016.91




